



The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at wvOASIS.gov. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at WVPurchasing.gov with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

Header 1

List View

- General Information**
- Contact
- Default Values
- Discount
- Document Information
- Clarification Request

Procurement Folder: 1901512

Procurement Type: Central Master Agreement

Vendor ID:

Legal Name: JENNMAR OF WEST VIRGINIA LLC

Alias/DBA:

Total Bid: \$198,539.80

Response Date:

Response Time:

Responded By User ID:

First Name:

Last Name:

Email:

Phone:

SO Doc Code: CRFQ

SO Dept: 0314

SO Doc ID: HST2600000002

Published Date: 2/24/26

Close Date: 3/4/26

Close Time: 13:30

Status: Closed

Solicitation Description:

Total of Header Attachments: 1

Total of All Attachments: 1



Department of Administration
 Purchasing Division
 2019 Washington Street East
 Post Office Box 50130
 Charleston, WV 25305-0130

**State of West Virginia
 Solicitation Response**

Proc Folder: 1901512
Solicitation Description: Multi-Gas Monitors, Gas, and Accessories
Proc Type: Central Master Agreement

Solicitation Closes	Solicitation Response	Version
2026-03-04 13:30	SR 0314 ESR03032600000005450	1

VENDOR
 VS0000027278
 JENNMAR OF WEST VIRGINIA LLC

Solicitation Number: CRFQ 0314 HST2600000002
Total Bid: 198539.7999999999883584678173 **Response Date:** 2026-03-03 **Response Time:** 07:21:07
Comments:

FOR INFORMATION CONTACT THE BUYER
 Larry D McDonnell
 304-558-2063
 larry.d.mcdonnell@wv.gov

Vendor Signature X **FEIN#** **DATE**

All offers subject to all terms and conditions contained in this solicitation

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Total Overall Cost: Multi-Gas Monitors, Gas, & Accessories	1.00000	EA	198539.800000	198539.80

Comm Code	Manufacturer	Specification	Model #
41103310			

Commodity Line Comments:

Extended Description:

Vendor should enter the total overall cost listed in Exhibit A - Pricing Page.
See attached specification and associated documentation for further details.

Multi-Gas Monitors, Gas, and Accessories
CRFQ HST26*02
Exhibit A - Pricing Page

Section	Item Description	Make/Model	Unit	Unit Cost	Estimated Quantity	Extended Cost
3.1.1	Multi-Gas Monitor (5gas)	4DRB1526222103 - DRAEGER	EA	\$ 1,775.00	50	\$ 88,750.00
3.1.2	Multi-Gas Monitor (3gas)	4DRA1524040003 - DRAEGER	EA	\$ 930.00	50	\$ 46,500.00
3.1.3	Multi-Gas Calibration/Bump Machine	4DR8321900 - DRAEGER	EA	\$ 2,961.00	7	\$ 20,727.00
3.1.4	Flexible Sampling Hose	4DR4594501 - DRAEGER	EA	\$ 54.25	12	\$ 651.00
3.1.5	Multi-Gas Calibration/Bump Machine Pressure Regulator	4DR8324250 - DRAEGER	EA	\$ 750.00	18	\$ 13,500.00
3.1.6	5-Gas Calibration Cylinder	4DR4597170 - DRAEGER	EA	\$ 840.00	12	\$ 10,080.00
3.1.7	Calibration Gas O2-CO-CH4-No2 Cylinder	4DR4597106 - DRAEGER	EA	\$ 524.00	12	\$ 6,288.00
3.1.8	Test Gas 58L, 99.95% CH4 Cylinder	4DR4597144 - DRAEGER	EA	\$ 220.00	6	\$ 1,320.00
3.1.9	Multi-Gas Monitor Direct Input Pump	4DR8319131 - DRAEGER	EA	\$ 883.00	12	\$ 10,596.00
3.1.10	Multi-Gas Monitor Car Charger	4DR8321849 - DRAEGER	EA	\$ 2.13	60	\$ 127.80
TOTAL OVERALL COST=						\$ 198,539.80

*** ALL SHIPPING CHARGES MUST BE INCLUDED IN THE UNIT PRICE ***